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QUESTION 1

When exactly two atoms share electrons, they are said to have which type of bond? 

A. metallic 

B. polar 

C. covalent 

D. ionic 

Correct Answer: C 

 

 

QUESTION 2

Most scientists agree the Earth is approximately how old? 

A. 2.4 million years old 

B. 4.6 billion years old 

C. 5.8 million years old 

D. 10.4 billion years old 

Correct Answer: B 

 

 

QUESTION 3

On a Celsius thermometer, how many degrees are there between the boiling point of water and the freezing point of
water? 

A. 212 degrees 

B. 100 degrees 

C. 180 degrees 

D. 32 degrees 

Correct Answer: B 

Explanation: 

In Celsius, the boiling point of water is 100 degrees and the freezing point of water is 0 degrees. 
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QUESTION 4

At room temperature, an element is a __________. 

A. gas 

B. liquid or gas 

C. gas or solid 

D. liquid, gas, or solid 

Correct Answer: D 

 

 

QUESTION 5

What is the scientific notation for 832,000? 

A. 8.32 × 10-2 

B. 8.32 × 102 

C. 8.32 × 10-5 

D. 8.32 × 105 

Correct Answer: D 

Explanation: 

To express a number in scientific notation, you move the decimal as many places as necessary until there 

is only one digit to the left of the decimal. 

For 832,000, you move the decimal to the left by 5 decimal places. 
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